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#include <stdio.h>

int main(void)

{
int a,b,wa; EHEERmTS.
0=10; Z#all10xKXAT 3.
b=3; ZHOI3ERAATS.
wa=a+b; Z#wallalbDMERATS.
printf("%d ¥n",wa); ZHwaDEERRT 5.
return 0;

}

1. EREEH

1.1 F#

- BFEH 0, 10, 500, 9424, -10

- REHH 0.0, 12.3, -0.02

CERE/NMSETEH 1.23e2 (1.23X102), 1.2e-2  (1.2X107)

- XFEH ("TIXFEMNID) A, "1, "AATRR 123" & [ETEALN.
- XFIEE (" TXFEIEMZL)  "ABC, "123", "1t

At YA X A

char 1 XFH. (XF1XFERLETS)
int 4 iR

float 4 HEERHE

double 8 BERERHE

1.3 BHEEHEES

*X 7O SADRYIT, EQOKSBEREFESNERT (BHEEE, THER)
- THEIE, EXFEH_THEY, A-Z, a-z, 0~9, BLUV_MNERTE 5.

- FHBICHZDHDIIFERTEZL. (void & &)

B I

int a, sum; BIHEIZTH alsumnEEF T 5.
double x, y; EHBITH xEyESTETS.
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2. BHE
2.1 BTEEF +, -, *, /, %
CREOEBXIERIZ, BELRALC. O *, /, %>+, -. () AZEkT5.

K*MIFTED" 7 (FHBETEIRN.
KX EHOBIEERTS.
3/2£3.0/2.013385. 3/2 — 1 (BEER), 3.0/2.0 — 1.5 (REER).

2.2 KAREF =
- EADOERICADDEHCEHDE, HABERERATS L.
K RAKIIEXTE AL,

a=1.0; T#alZ1.02KAT 3.

day=year*365+1; Z#year|T365% ), 1ZRBLEEREZdaylTHKA.

n=n+1; ZHnDEICIZEL, TOEREZZHITKA.
BRELTNODENPLIEZS.

2.3 ZHOYEE
EHEFLLEROEHRDERRETHS (ABA>TOLENDLHSEN).

int a, b; BHIILT R, bEEE.
a=b+10; bDARIC10E B LR ZATRKAT S.
aDfElL ?

- EHIEERATEHLEZVHET D L0 D.
int a; int a=2; COKDICEL I EHTES.
a=2; a=0+10;

a=0+10; ZDBAIL, aDiEIF12I1C755.



